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Sketches/Graphs of a Quadratic

OPTION #1 - Table of values (vertex & 3 points left/right)

ex: V= 3(.?'6 + 2)‘2 -5
X y

OPTION #2 - Axis of Symmetry (vertex, y-intercept & its reflection)
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Forms of the Quadratic Function

Y2
@’rex FOI‘D yza(_x—h) + k
- stretch factor: "a" . - max/min y value
P y
- vertex: (h, k) e roperties »| - axis of symmetry
_— - domain/range
__ Standard For‘D

- stretch factor: "a"
- yintercept: (0, ¢)

y=ax’+bx+c

Example 1: Change from vertex to standard form. (X’ i)

Vertex Form y = —3 X — 2 ? + 5

' j,_ “B/ZXE&*V) ‘G
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